
41st Petrozavodsk Programming Camp, Summer 2021
Day 1: Kyoto U Contest 1, Monday, August 23, 2021

Problem D. Distribute the Bars
Input file: standard input
Output file: standard output
Time limit: 2 seconds
Memory limit: 512 mebibytes

There are N metal bars. The weight of i-th metal bar is 2i− 1.

Your task is to distribute those metal bars into two or more groups such that the sum of weights of metal
bars in each group will be the same, or determine that it is impossible. Note that each metal bar must go
to exactly one group, and that it is not allowed to cut the metal bars.

Input
The input contains one integer N (2 ≤ N ≤ 105).

Output
If there is no way to distribute the metal bars into two or more equally weighted groups, print one line
containing the integer −1.
Otherwise, on the first line, print the number of groups G (2 ≤ G ≤ N). Then print G lines, one for
each group. The i-th of these lines must start with the the integer Ki, the number of metal bars in the
i-th group. Then print Ki integers: the weights of the metal bars in the group. Each metal bar must be
assigned to exactly one group, and the sums of weights of the metal bars in all groups must be the same.

If there is more than one solution, print any one of them.

Examples
standard input standard output

4 2
2 1 7
2 3 5

2 -1

3 -1
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